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( PART-A: Objective )

Time : 20 min. . Marks : 20
Choose the correct answer from the following: 1X20=20

1. Organelles that arose from symbiosis as explained by Lynn Margulis are
a. Endoplasmic reticulum & Golgi body b Lysosome and mitochondria

¢. Chloroplast and endoplasmic reticulum  d Mitochondria and chloroplast

2. The theory of evolution by natural selection was independently developed by
a. Lyell & Darwin b. Darwin & Wallace
c. Darwim & Malthus d. Lamark & Darwin

3. This type of fossil is formed by hardening of material surrounding the buried

organism. Their bodies disintegrate, leaving hollow cavities. This forms the
a. Petrified fossil b. Cast fossil
¢. Mold fossil d. Trace fossil

4. The first three toed grazer was

a. Parahippus b. Hipparion

¢. Pliohippus d. Merychippus
5.  Which of the following is also known as Sewall Wright effect?

a. Genetic drift b. Mutation

c. Natural selection d. None of these

6. Which of the following is the correct sequence
a. Miocene: Pliocene: Oligocene b. Permian:Carboniferous: Devonian
¢. Oligocene: Paleocene: Eocene d. Cambrian: Ordovician: Silurian

7. “Speciation is not due to selection of advantageous genotypes but elimination of
deleterious alleles and random selection of neutral alleles.” This statement was
proposed by

a. Sewall Wright b. Motoo Kimura
¢. Charles Darwin d. Alfred Wallace
8. What was the basic principle of Lamarkism?
a. Inheritance of acquired characters b. Variation
¢. Natural selection d. Survival of the fittest

9. This domain is characterised by ancient bacteria that live in extreme conditions.
a. Archaea b. Bacteria
c. Eukarya d. Prokarya
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